LA

t.t_ )J_

NI hrE b=
oo ERERRE
104~ 1
25,000 AR 7_
15,000 HErss £ 1036
1010[}0 W \k(\yj/ —0—104@
5,000 (\V/) \_/ —a—105F
1|2|3|4|5|6|?|8| 10 11 12 B#H
= 0 103108 ~ IMERIOESRERERE -




2. BB E S

104 ~ 105 EFE
. >\

20,000 M >\ —— 1034E
15,000 ——1UE
10,000 * ﬁ —a— 1054

\Y/

1 2 3 4 5 6 7 8 9 10 11 12 Afm
= 1 103FE108 ~ IMERIYEE BEERE » WifoETEEEE -




D

3,000.00 105EEFE
2,500.00 I
- - 1 25.0%
2,000.00
1 20.0%
1,500.00 1308, b BT 12 .-
! 121421 Bt 10 b0 PT T D%
1,000.00 AT T IR 10.0%
- Abys
/NIE 500.00 I I l I 1 50%
] | M B U 0.0%

@%@@C’O‘ﬁ N L 'SP N~ s |
FF P T T TS E

2t 104ERI0SFESHERERE -

-y .
ETRSETHUREER BT CEE s EAE




A, ¥ BOAE LB E 2

Kcal/Kg R ERVE

2,400

2,100
1,800

1,500
1,200

900

600
300

——1034F
—— ((ME
—a—1034F

=¥ D 103108 ~ 1ERIOES B EBERE -

R




5.8/ 8 T R e s

FHIEEENE

JT
9000 12,000,000
8000 104E RIS R |
7000 EREtRis L0SEERRIE B L
6000 AL 8,000,000
MWH 5000
4000 6,000,000
3000 4,000,000
2000
1000 2,000,000
0 @ 6 0
& \@@ \@\ FgHggFggeF s $H B PP
etl - 10455~ HIFER R B A EmTREiE -

EmXES(TE) E3EEE(TE) ——EEWACD




